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5

M, =300x0 = O[kNmm]
M =300x0 = O[KNmm]
M. =+300x500 = +150000(kNmm]
M, = +300x 500 = +150000[kNmm]

6

M, =+2x8-12x3=-20[kNm]
M, =+2x8+12x0 = +16[kNm]
M. =2x0+12x0=0[kNm]

Mp =2x0-12x3=-36[kNm]

7
M, = +50x 4 = +200[kNm] = M
M. =50x0=0[kNm]=M

P, = 20x > = 203
5

=12[kN]
4 10x4

P, =20x—
5

— 16[kN]

M, =12x0+16x3 = +48[KNmm]
Mg =M, =0kNmm]

9

M, =3x0+3x3=+9[kNm]
M, =3%x3+3x0=+9[kNm]
M. =3x5-3x2=+9[kNm]
My =3x6.5-3x3.5=+9[kNm]

8

10

M, =-30xL+40x(14—L)=0

—30xL+40x(14-L)=0
—30L-40L+40%x14=0
—70L =-40x14

Lo 40x14

70
L =8m]
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